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Instructions :

1)
i)

1)

Vii

)

Viii)

X)

All questions are compulsory.

Part-A and Part-B.

This question paper has two Parts - r ok
i : ' ol onc 2

Part-A consists of 20 multiple choice questions

have to be answered on OMR Answer Sheet.

ach that

o , our answer on
For Part-A rcad the question-wisc instructions and mark y

_ itener on
the given OMR Answer Shecet only. Do not erase, cut or use wh
the OMR Answer Sheet after answering.

Marks of the questions are mentioned against them.

Part-B consists of descriptive type questions of 50 marks. Ther't‘ arc
Descriptive-1, Descriptive-Il and two map related questions in this part.

All the questions of Part-B are to be attempted all at a time.

Start from the first question and go up to the last question. Do not waste
your time on the question you cannot solve.

Attach firmly the supplied maps in your answer-book.

For visually impaired examinees Question Nos. 9(A) and 9(B) have been
given separately for writing answers in lieu of map work.

9 vg - A

( Multiple Choice Type Questions )

ﬁh;ﬁmmm%_mm%wﬁwﬁqmﬁluﬁﬁmwﬁ

oﬁiﬁtmwﬁ%aaﬁ:

Instruction, . Four alternatives are given for each of the following questions

1.

02000/36

1

Choose the correct alternative and mark on OMR answer sheet :

Mt & o st 1804 & Aulfefa I # T wirey 7y o >

I (B) i ST $7 oy
iﬁ;_%ﬁm (D) W%Wﬁmﬁm 1
y 11;E4o;1e of the following was not included in the Napoleonic code
({21 Zig\,::tgz based on birth (B)  Abolisheq the feuda system
Property (D) Equality before layw ]
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RiT & Hi Fa gd o 2

kS

(A) 1689 (B) 1779

(C) 1784 (®) 1889 1
2. When did French Revolution take place ?

(A) 1689 (B) 1779

(@ 1789 (D) 1889 1
3. 1861 H Ui geeit &1 wHre fwd aifa foar @ 2

(A) e T (B) v Afceet

) fafe 9 wm (D) g9 e 1
3. Who among the following was proclaimed first Emperor of unified Italy

in 1861 ?

(A) Emmanuel II (B) Giuseppe Mazzini

(€) William I (D) Giuseppe Garibaldi 1
4.,  dfeorgy e faa g ?

(A) STRIHT (B) R

(C) Imfera ®) I 1
4. Where is Belgium situated ? '

(A) Africa (B) Asia

(C) Australia (®) Europe 1
5. 1929 H #fgeh TRHIY 1 H&F HRT FT 4T ?

(A) P &3 7 e SR (B) 3cafys faw

() i Frefleor (D) &M =l ¥en # gfe 1
S. What was the main cause of 'Great Depression' in 1929 ?

(4) Excessive production in agricultural sector

(B) Excessive investment
(C) Privatization of banks
(D) Increase in the number of industries

6. e § ‘Rt | a1 ?
(A) T TR (B) U& gl

(C) TH @ (D) T AR 1
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0. Whit was ‘rinderpest’ in Africa ?
(A)  An animal
(C) A sport

7 farfetfiga 11 & 414 @ ued ge @ € 2

(B) An incident
(@) A disease

(C) &b (D) &M
7. Which of the following is a subject of the State List ?
(A) Currency (8) Foreign affairs
(C}) Banking (D) Commerce
8. fa=fefga & dumers wa" +€ T & 2
(K WRA (@ sl
(C) dfeoram (D) EYH TG SN
8. In which of the following is there no Federal Government ?
(/M India (B} Sri Lanka
(C} Belgium (D) U.S.A.
9. Prafefea 8 @ feasm way dAmdT A T & 2
(A) @da R fsmw faram (B) IuEHE A
(C) A & THY FHHAI (B) SEEGEH! T WA
9. Which of the following is not related to democracy ?

(A) Independent and impartial election
(B) Responsible government
(C) Equality before law
(D8 Rule of majority
10 frcfefea 8§ @ ®9-@ qureds A St fagwar 7@ & 2

(A) el &1 faeror (B) Vifwdl &1 Hrdu
(C) Tare e (D) FSR HieuH

10. Which one of the following is not a feature of a Federal Government ?
(A) Distribution of powers (B) Centralization of powers
(C) Supreme judiciary (®) Rigid constitution

02000/36



11.

11.

12.

12.

13.

13.

14.

14.

15.

825(EY)

5
mﬁzﬂﬁ#mﬁﬁaﬁaﬂﬁﬁm«zﬁfu@w% 7
(A) e S B) o e
(@) T i3 (D) ARG firgt 1
Which one of the following soils is suitable for cotton cultivation ?
(A) Red soil (B) Laterite soil
(@ Black soil (D) Alluvial soil 1
i T e Y (g ) Freferfaa § & few T A AT AT & 7
(A) TTEH ' (B) I WRH
() i (D) OGS 1

In which one of the following states is slash and burm (Jhum

agriculture) practised ?

(A) Rajasthan ‘ (B)  Uttar Pradesh

(C) Mizoram (D) Uttarakhand 1
frfetfiaa @i § ¥ P91 T SRE @ € 2

(A) ®) e

(@) e TS (D) @ 1
Which one of the following is a basic mineral ?

(A) Mica (B) Manganese

(¢) Iron ore : (D) Copper 1
frferfigs & @ FR-T1 F 1 WERTE A & 2

(A) FEem (B) WS FHet

(C) WX FHAl (D) “EORIF Fet 1
Which of the following is a conventional source of energy ?

@4} Coal (B) Wind energy

(C) Solar energy (D) Tidal energy 1
frefofeg § @ S9-97 307 SENRE S Hed 9| F ®9 H UG FIar § 2

(A) ®) e wd e

(C) ueymtm (D) He 1
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15. Which one of the following industries uses bauxitc as raw material ?

(A)  Paper (8) Iron and steel

(C)  Aluminium (D) Cement 1
16. ﬁmﬁ-ﬁmﬁ#ﬁq—mwﬁmﬁa%m% ?

@) Wa (B) T

(C) wiw (D) SRV l
16.  Which of the following is a developed country ?

(A) India (B) Brazil

(C) France (D) Bangladesh 1
17.  foeht 3w 3 foerg =t Preifeq o o omam el

(4) = gE fe R B) wfa =fE o

(C) =l =1 TRRAE W) (D) T it 1
17.  The parameter to determine the development of a country is

(A) Level of health and education (B) Per capita income

(C) Level of literacy of the people ()  All of these 1
18. frfefiEa & & S-w o 8 & e w e ¥ 2

(A) i = (B) U F Shad wiTa

(©) e T (D) T & wst 1

18.  Which of the following is an objective of development of rural sector ?
(A) Regular work '
(B) Appropriate price of the produce
{C) Better wage
(I3) All of these

19.  Frd Q e P o weas g W Fed § 2

(A) TR &6 B) s &

(C) T &% (D) S & 1
19. Which one of the following is also called agriculture and subsidiary

sector ?

(A) Primary sector (B) Secondary sector

(C) Tertiary sector (D) Quaternary sector |

02000/36
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20.

7 825(EY)
frefefaa § @ fra o § sodee geen sfufrm @i w2
(A) 1976 (B) 1996
(C) 1986 (D) 1966 |

In which one of the following years was Consumer Protection Act
enacted ?

(A) 1976 (B) 1996
(C) 1986 (D) 1966 1
oqUs - &
PART - B
( qUATHE - 1)

( Descriptive - 1)
( Fre=1 et % IR Uls RTNT 80 Wi H ‘T )
( Write answers of these questions in about 80 words each. )

e ¥ Ao &) whEAT F) REG UER SgEl RE ¥ 2 9 §ied W

| 2+2
A4l

o foregs & TvEIa gHael Mg HETHG! 1 HRA W A9 a5 2 4

How has technology stimulated the globalisation process ? Explain it

with examples. ‘ 2+2
OR

What was the effect of the Great Economic Depression on India after the

First World War ? 4

s W T @ Rt gt fardtnad B forren iR 2+ 2
Al

e &) TR w6 EvEs & 2 S Sl 4

Discuss any two characteristics of federal government in India. 2+ 2
OR

Why is power sharing desirable ? Explain. 4

02000/36 [ Turn over
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3. Wﬁﬁﬁ?mﬁmwﬁaﬁﬁmﬂﬂﬁm )
YAt

mﬁﬁmﬁmmaﬁ%ﬁ%?w?ﬁﬁﬁwwl o

3. Discuss the main land use patterns in India. )
OR

ny three measures for it.

Why is resource planning necessary ? Suggest a L +3
+

4. o T B Ao % R & A o0 R g A E 2 4
HYCT
Tt a R TR sfufrm (2005) W e Wi feorolt e 4
4, How are economic activities classified on the basis of employment
conditions ? 4
OR
Write a short note on National Rural Employment Guarantee Act (2005).
4
( AT - I )

( Descriptive - 11 )
( 1 WAl & I IS T 150 VIl ® Sifea )
( Write answers of these questions in about 150 words each. )

5. AT HIT U 2 IEH QUR AL 2 39S QU HT T IE TSN 2 2+ 2 + 2

Hgar

wferr srae Ao R AL ¢ 2 3T/ T T T ? TR T W6 TG ?
2+24+92
5. Who was Napoleon ? What were his reforms ? What was the effect of his
reforms ? 2+24+9

OR

What do you mean by civil disobedience movement ? Why was it
launched ? What was its effect ? 24249

02000/36
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8.

9 825(EY)
“Wﬁﬁﬁi‘ff-m\ﬁqmﬁmﬁiﬁmﬁﬁﬁmh”ﬁ ) 79 frafa & gz TH
% gwa i 3+3

srear
TS T FAR N WTES S § Jga &1 FRON B WL FAT 6

“Sometimes elections are all about castes in India.” Why ? Suggest

measures to get rid of them. 3+3
OR
_ADemocratic government is better than other types of Government.”
Explain its causes. 6
fordt e ® Fi w1 T W € 2 IR 6
FHgar
e Wt ¥ ITE Wife el @ fase Siae du WRa § w1
YT IARA &3 HT oo i | 3+3
What is the importance of Agriculture in an economy ? Explain. 6
' OR

v Discuss the suitable geographical conditions for the cultivation of rice

and mention any three main areas of production in India. 3+3

YT fhd FEd & 2 EHI0T o TN S5 a1t SRS DI fqaa=T ST

2+4
AT

IYRRT & AMERT ¥ AN T T & 2 Iuwiel ean AUt (1986 )

3gifirar &t ot fogemn Fif) 3+3

What is globalisation ? Discuss the factors that have enabled

globalisation. 24+ 4
OR

What do you understand by the rights of consumers ? Discuss the
usefulness of Consumers Protection Act ( 1986 ) also. 3+3

02000/ 36 [ Turn over
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Instruction : Question Nos. 9(A) and 9(B) arc rela

9(A). ﬁ%’ﬁ@ﬂwﬁaﬁm%ﬁﬂﬂﬁ%@qﬁﬁﬁ@ﬁﬁ

10

( wrafer Wl )

firdwr : we3 d@m 9(A) @1 9(B)
ted to map.

Gﬁmmuﬁﬁmﬁ%ﬁ%,%mﬁuﬁﬁﬁﬁ:

i)

ii)
i)
iv)
v

9(A).

with names. For correct mention of name and location 5%

o5 @ 9w 1927 § Hety T P F e g s
o% F @7 Tl A e S Wi e it
% @ R et fer sifivent 3 wean foRa L+
% W ef AlAGraer an gearhrs g | Ly !
o5 I o @ 1020 § FTEANT STRIeT H ITET §H 1 el

In the given map of India locate the following places by the symbol ®

1 marks have

been allotted.

i)

ii)

02000/36

The place where the session of Indian National Congress held in

+ !
2

B |

1927.

+ 1
2

B |

The place where Gandhiji started making salt.

The place where cotton mill workers launched Satyagraha

movement. 1,1
2 2

The place where the Jallianwala Bagh tragedy took place. 141
2 2

The place from where Non-cooperation Movement started in 1920.

1
2

+

B | -



T 825(EY)
9B). FRw : A ™ wrm & gt A fr=fafed & gain

i) TreTm & e [C] R g A afed o
i) R W i o Wy (=) faer gro AW afE) 2t
i) I R F e wqE T [V e g A e | e
iv) W%ﬁ—m’fwmmﬁﬁ@@ﬁﬁmmﬂﬁal ot

v) R aRE s S w o e [ fe g A e 4

9(B). Instruction : Show the following in the given map of India :
i) The capital of Rajasthan Iby symbol with name. ; + %
ii) A dam built on Mahanadi by EI symbol .Witb name. ; ¥ ;
iii)  An important river of North India by [J/] symbol with name.  +
iv) An atomic energy centre of India by @ symbol with name. % + é

v) A coffee producing state of South India by symbol with name.

141
2 2

( Faet giecafam wenfaat & fod ety v & fFa F wa F )
{ Only for visually impaired examinees in lieu of Map work )
9(a). Frdw: frfefad sl & S oo SW-GRew § fofen ) ot & w3

FHifeT |
) R T S 1927 H SR FR gen o 2 |
j) el T Sier Fet ¥ R e A 2 1
i) g et siftRl A T WS SN e e 2 1
) ST ST ECTE FE g O 2 1
s SRIEH S 1920 H T W AW ga o 1

v)

{ Turn over
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12
Do not

. answcf’h‘:")k'

9(A). Instruction: Write answers of the following in Your

use the map.

o held in 1927 ?
i) Where was the session of Indian National Congress f¢

|

. 1
i)  From where did Gandhiji start Salt Movement ?

ir Satyagraha
iiij Where did cotton mill workers launch their Satyag

1
1

Movement ?

iv)  Where did Jallianwala Bagh incident take place ?

W From where did Non-Cooperation Movement start in 1920 2 !
9(B). Frdw: ﬁmfaﬁaﬁwﬁasammﬁ’rsﬂt-mﬁhﬁaﬂlqmﬁawwﬁa
i |
i) T ) e AR A fEfEe 1
i) e W A sty @ A fefEn !
i) <1 YR F TH 9@ TR H TH et )
iv) WA I TF TG WA Il & H1 AN feE :
v) - 3Or 9RE § FR IARE U6 T A fefEn) ,

9(B). Instruction: Write answers of the following questions in your

answer-book. Do not use the map.

i) Write the name of the capital city of Rajasthan. 1
ii)  Write the name of the dam built on Mahanadi. 1
iii)  Write the name of an important river of North India, 1

iv]  Write the name of an atomic energy centre of India.

v) Write the name of a coffee producing state of South India.

825(EY) - 4,90,000
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